St A ellA 80

Ut ol 4

ol A
5% olal, 11 %
Y

A o

%l



ok 2ol A2
25% Ut A

cm



3. BYIURE ok RYAY Ao sttt AR mAet 25 S
worsUTh A7 URE 9 A7k ARSI

=
=

a

-
l*)
b



&2 712} o} mepol up 22lo) 2, 7t

w7 \Ro] SqIut Fhe] 350 91 At

9 RO 0] FE TS

7

1
4131 22
1 2 14
1 5
U




7t=2, A&, Eol7F 242t 4cm, 5em, 6cm Q1 A7 R of 2 T

St o] 9YRE NEQO] Folee 1 e JRu

WS @ ] B71uRst gl

i %o,




28:3







8.

7FEF A2 9] B7F16: 991 AAMAE B

749 mopo] 21w ThEE T

t} 7I2E 48 cm = SHH, Al 2= 2 cm 2 FfoF 3]'

e = cm



